KR 7"7 '0n R, A" 702

Why is a P25 necessary to exclude  — 00729 R7p T0RIN INBN

OVERVIEW

The & n3 asks that according to the 7"n that 7%°7 is 25 why is it necessary
for the 770 to write an extra 109 to exclude ypp from a 712w, when ¥pap
is a case of 77°11. Our Mo0IN will modify this question somewhat.

nooIN asks:
— lmva IV 1NN NP N9 NN NN

It is astounding! For there is no extra »o» to exclude Mypap -
— VY SVIPNAY THIVIN 5991 VA9 5931 21NY 1350 Y939 V) Y9N NN

But rather we exclude ¥pap from a %921 vy %92, and the %921 v=21 %95 is
necessary to exclude M uw; why does the X723 ask, why we need an extra p109?!

N1B0IN answers:
— 099 Y991 MPPIP 99905 *Nan PIVYN INAN 7Y ROWDT 1Y Y

And one can say that the difficulty was why it was necessary for the Xin
to derive the exclusion of mwp=p (from a 7¥12w) through a vwazY 9> -

— M09 79501 15
Since 727 is 7D from a 72w

nvoIn asks:
— ‘1N 191 NPAYN SVIVNY TIIVNINT N1IY 9NN ON)

And if you will say; let us answer that the 02 is necessary to exclude
mypap from a 712w of an K'Y (but not from »"n ny1w)?°

" See “Thinking it over’.

% See 2,2n Myaw where the Xn»13 derives that Mypp (and NTvW 0°73Y) are exempt from a 712w from the
109 (in 1,25 [D*wown] Nww) which states (722) "3 A7°aR 73 HY (979) "2 AN Y MW HY (992) Ywo 027 90 Y
and the P09 concludes DmIw 727 X12° 2°P7R71 79 (which refers to a 7v12w). Only those things which are 1°v3
v1977 (which is 7772 19131 YuoWAR 927) is 2R a 7¥1aw; however Nwpap (and 2°7ay which are mypaps WwRIR)
which are not a Yv5vn7 727 (and MALVY which are not 1327 1913) are not 27111 a VAW,

? The question is not why there is an extra 109 (for indeed there is no extra P109), but rather why does the
Xin of the Xn>12 (see footnote # 2) derive the exemption of Mypp from 712w through a 3", when he
could have simply said that mypap are exempt from 712w since it is a case of 72°17!

*If an X"V testifies that a certain v belongs to the claimant, there is no 7¥12w 21°17 on the defendant.

> This question is valid only according to the previous answer. If the question of X7p T0%X *}nX would be
on the P09, then we cannot answer that the p109 is discussing a X"y ny1aw; for in the aforementioned p105
(see footnote # 2) it states 17 X177 2 R> WX which is the case of a n"21m (not X"v). However after m»oin
explained that the question of the X713 is on the Xin of the Xn*13; we can argue that the Xin of the Xn>12
mentioned MyPIp to exclude them from a R"Y n¥12w also (where the concept of 72°17 is not applicable).
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N1B0IN answers:
— *mYpapn YY PYaYI PRT PIINNT DIYN I U 1N

However one can say that the X773 could not answer this, since the iwn

which teaches us that there are no oaths on nypap -
$NNPNI NTINT DYV 9N
Is discussing the 1212w of a %''2; and this is the question; why does the Xin of

the Xn»72 explain to us that there is no 1" NY1AW because of a 2"913, when we know it
already without the 2"912, since it is 77°1.

SUMMARY
The question is on the X1n; why he excludes mypap from a 7¥12w based on a
5"912 [since he is discussing (exclusively) »"21m nyaw (which is 72°7)].

THINKING IT OVER

mooIn claims that there is no extra 109 to exclude nypap.” However, nmooin
stated previously® that according to »" ¥"1 who are "0 *127 w7 there
1s some V¥ to exclude ypap. Perhaps this is what the X773 here is referring
to when it asks X7 T0XK X!

® The mwn of mypapa Y Pyawl PR ois in 2,27 nwnaw. This mawn is followed immediately by the
aforementioned Xn>12 which derives that mvpapa v 1Pvaw: X from a 5™913. The 71wn there cites a npY?nA
between 2°»om 1n'" concerning a n"2m by Mypap. The preceding mwn (in 2,m? My1aw) also discusses "2
by mypap (the mawn is cited here on the previous 2"y [the case of mwypapy 0°%3 1vv]). Seemingly nwon
assumes that this Xn>71 is explaining these (two) n1wn which are discussing exclusively n"21m nyaw and
not X"y nyaw. Therefore the question remains that for »"21 NY12W no 5™913 is required.

7 See footnote # 1.

¥ See ('an) PR "7 2,7

? See X"w1mmn (and n'"m).

2

TosfosInEnglish.com



